
Русский лес
«Лес раскрывается только для тех, 

кто умеет чувствовать к его 
существам родственное внимание»

М.Пришвин                                             















12 – (9 – 3 )  П               16 -  ( 4 +  5 )  С  
 8 + (  12 -  7  ) А            9  +  (3  +   6 ) Л   
( 18  - 9 ) + 6  И              (5 + 9 ) – 8  Е





18 * 9 * 6 = 15                                            

11 * 7 * 8 =  12
40  * 9  * 1  = 48

40 * 7  =  47





                                 

                                 

подосиновик

подберёзовик

белый гриб





















      

12см. * 1 м.
1дм. * 9 см.

60мин. * 1час
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